o6 FE

Tt ok o AV

VFARAFV IV T—a v RUESEEEEBAOHREIZOWT

4868 (1) E%E
L B AIVF-yay . i HYIVF-yay
AR qi2 55 % s %= |BE |[HEEBA (£R) |BH

B 1A HE
= 48680 M1 (E) %mw\z%ﬁmﬁmlmﬁ 9:40-10 : 20 104 11:50
ES () [M2 (E) S 2= EEAREAO0S5 (104 [10 : 20-11 : 00 104 12:30
4898 (K) EESER - BEFE
o _ F)I7-Y3 o . F)I7-Y3y
B qi2 552 e %= |p® |#HpERA &R (B ’

BE 1A =
) N1 (&) 2S5 8E2[5207 |10% |9 : 40-10: 20 1049 10:30
= LA9E N2 (&) 95004 | 25 AE4BL404 |104> (10 : 20-11 : 00 1049 11:10
=) N3 (&) 2= EE4AREA05 (104 (11 : 00-11 : 40 104 11:50

(X))
K- & PL (& - & 13E5004 25 ERABEA04 104> |13 :40-14:20 (109 | 14:30
<F

L P2 (& - &) 7 [ o=gEapea05 [104 |14: 20-15:00  |10% | 15:10
AB10H (k) EMTI%E - BEEHEPH - T—2H14 T REER
S > VL7773 o= . " F)Iv7-Yav
IR =FE 752 = BE |HREEAN (£F) [BH

R4 HE
DS D1 (DS) 22 EEAREA04 |10% |9 & 40-10 : 20 104 10:30
DS D2 (DS) 9BF004 | 22 £E4RL405 1104 |10 : 20-11 : 00 104 11:10
I AR108 [S1 (38) 3288104101 [10% |11 : 00-11 : 40 1049 11:50
EN (k) |AT1 (%) 2 S BE2RE207 [104 |13 : 40-14: 20 104 14:30
=L EH AT2 (%) 1385004 | 22 8E4£404 (104 |14 : 20-15 : 00 104 15:10
=B AT3 (%) 22 BEARE405 |104 |15 : 00-15 : 40 104 15:50
4118 (k) #BEFEP - AXMHELFE
e _ H)Iv7-v3y . H)Iv7-3y
FER AL 75 H=E By |HREBA (£H) (B

BE 1A =
=% El (&) 2S5 BBARE4A04 |104% |9 ¢ 40-10: 20 104> 10:30
S E2 (%) OEE00% 25 EEARE405 |10%> [10:20-11:00  |10% | 11:10
= m11g BB T 3= mm1p101 (104 |11:00-11:40 105 | 11:50
= ) E4 (2) 3288204201 [10% |11 : 40-12 : 20 104> 12:30
A - N H1 (A) 2SBE204207 |104 |13 : 40-14 : 20 1049 14:30
AR H2 () 1350049 | 2288482404 |104%> |14 : 20-15 : 00 1049 15:10
P NEES| A H3 (A) 22 BBARE405 |104 |15 : 00-15 : 40 104> 15:50

IIAFY T T— avIIFAEEBBEESNEE - B2 L £,

ZRN(ZSNS (Instagram) TiTWLWE£ 4,

X(|[HTwitter) 7 17 >~ b : @ncushinkan_r6

LREBADOKREIZEBEBADOKRETY,

Instagram7” 71 77 > bk @ @ncushinkan_r6
BWENBVBERBIARTOBALTRETT, )




